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b. 1 point for answer

Rubric:
1 point for the answer;

1 point for the price for just the songs
she likes;

1 point for each of the unit rates
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SELECTED RESPONSE ‘CONSTRUCTED RESPONSE
Select the correct answer.

1. If 4 gallons of milk cost $16.76, how
‘much would 7 gallons of milk cost?
@ $4.19
(B $29.33
(© $67.04
@ $117.32

2. John drives to the beach, which is 270
‘miles away. In 2 hours, he drives 120

miles. If he continues at that speed, how
long will it take him to get to the beach?

@ 2hours
@® 2.5 hours,
@© 4 hours
(D) 4.5 hours

3. The yard care staff can mow 45 lawns in
2 10-hour work day. Each of the 9
workers can mow the same number of

Tawns per hour. How many lawns can one
worker mow per hour?

6. A moving company has one large truck
for furniture and one small truck for
boxes. During one move, it took the large
truck 4 hours to travel 180 miles. It took
the small truck 3 hours to make the
same trip.

a. Assume both trucks traveled at
constant speeds. How fast did each
truck travel?

b. The following week, the company
‘was hired for a 225-mile move. If
each truck traveled at the same.
speed it had the previous week, how
long did the trip take for each truck?




image2.png
@ 0.5 lawn per hour

@ 0.9 lawn per hour

@ 4.5 lawns per hour

@ 5lawns per hour

A car travels 304 miles on 16 gallons of
gas. How far can the car go on 5 gallons?
@ 3.2 miles

(B 60.8 miles.

(© 80 miles

@ 95 miles

The last time Robert filed up his car with
gas, he paid $24.50 for 7 gallons. This
time, he needs 15 gallons. If the price is
the same, how much will he pay?

@) $52.50
(B $32.50
© $11.43
@ $3.50

7. Two shoppers bought meat at a
‘supermarket deli. The first bought 3
pounds of meat for $9.87. The second
bought 4 pounds of meat for $16.76.
Neither of the shoppers had a coupon o
a discount card. Can you tellif both
‘shoppers bought the same kind of meat?
Explain why or why not
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8. Lupita bought 7 pounds of pretzels ata
local wholesaler for $16.80. Her friend
Charles bought 5 pounds of pretzels at
the supermarket for $12.75. Charles
thinks he got the better deal because
$12.75 s less than $16.80.

a. s Charles's reasoning correct?
Explain why or why not

9. Sam s renting one of two cars to go on a
300-mile trip. The first car can travel
75 miles on 5 gallons of gas. The second
car can travel 240 miles on 20 gallons of
gas. Each car costs the same to rent, and
Sam wants to rent the car with the better
gas mileage. Sam estimates that he will
pay $49.42 for every 14 gallons of gas he
has to buy. Which car should Sam rent,
and how much money should Sam bring
for gas? Explain your reasoning.
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10. Aband Martha likes just released a new
album. A digital music service is selling
the 12-s0ng album for $9.96. The service
also allows purchase of individual songs
off the album, with 3 songs selling for
$1.29 and 9 selling for $0.99. Martha
likes all of the $1.29 songs and 6 of the
$0.99 songs. She is considering buying
just those songs or buying the whole
album. What is the better deal in terms of
price per song? Show your work

b. How much would Charles have spent
ifhe had purchased the same
amount of pretzels as Lupita?
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The small truck traveled at 60 miles
per hour, and the large truck traveled
at 45 miles per hour.
b. The trip took the small truck 3.75
hours and the large truck 5 hours.
Rubric
. 0.5 point for each correct speed
b. 0.5 point for each correct time
7. The two shoppers did not buy the same
kind of meat; the first shopper paid $3.29
per pound, and the second shopper paid
$4.19 per pound.
Rubric
1 point for the correct answer; 2 points for
an appropriate explanation
8.a. No; Lupita paid $2.40 per pound for
her pretzels. Charles paid $2.55 per
pound for his pretzels. Lupita got a
better deal because $2.40 per pound
is less than $2.55 per pound.
b. $17.85
Rubric
a. 1 point for correct answer; 2 points for
‘explanation

9. Sam should rent the first car and bring
$70.60 for gas.
The first car gets 15 miles per gallon,
‘while the second car only gets 12 miles
per gallon. Sam should choose the first
car. Sam's estimate for how much he will
pay for gas indicates a unit rate of $3.53
per gallon. At 15 miles per gallon, Sam
will need 20 gallons to make the 300-mile
trip. So Sam should bring $70.60 for gas.
Rubric
1 point for the correct car;
1 point for correct amount of money for
ga:
3 points for appropriate explanation with
necessary calculations

10.1f Martha buys all the $1.29 songs and 6
of the $0.99 songs, she will be getting
songs for $9.81. She will pay $1.09
per song.

$9.81 _ $9.81+9 _ $1.09
9songs  9songs+9  1song
If she buys the album, she will be getting
12 songs for $9.99. She will pay $0.83
per song.
$9.96 $9.96+12 _ $0.83

12songs  12songs+12  1song
The whole album is a better deal in terms
of price per song.





